VEAR 4 — REASONING WITH NUMBER. ..

| What do [ need to be able
| todo?

| Bg the end of this unit you should be able to:
ldentify integers, real and rational numbers

o Work with drected number

»  Solve problems with number

o Find HOF/ LCM

e (dd/ Subtract fractions

» Muttiply/ Dwice fractions

o Write numbers in standard form

Integer: a whoke rumber that is postive. or negative

Rational: a number that can be made by diiding two integers
rrational a number that cannot be made by diiding two integers
nverse operation: the operation that reverses the action
Quotient: the resutt of a division

Product: the resutt of a mutipication

Multiples: found by muttiplying any number by posttive integers
Factor: integers that muttiply together to get another number
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